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18]  No. [-0.4m FiE IEfz]  EE8% 2#] No. [-1.8m iE oA R
2 923|FH EEX 27|ASTZ9¥ < 2 11.38 1 E7 RE 2|[REREERXR 1 11.60
4 1763[#Ah EX 2t AS 2 11.54 2 #H B3 4|[LEREFERXR 2 11.98
3 18| IME EE 3|ft AR 3 11.66 3 138[#&)I &+ RESES 3 12.05
1 71706|E & = ILEFEFEX 4 14.68 4 il EE |LEREEKX 4 12.31

3#8] No. [-3.8m FiE IEfz]  EE8 4%8] No. [-1.7m g oA R
2 WA X S| LEREEXR 1 11.78 1 B Bith NSRS 1 11.18
4 A& Z—H M |LEEEEX 2 12.08 2 1919|% 7 &3t 3[OE$ 2 11.80
1 #HE IEFE LEREXR 3 1212 4 3920(# F BEEE 3|OLIMPIA PLUS 3 12.06
3 ZE B ILEHFEFX 4 12.88 3 1398|fE4 K S| 3[EILKX 4 12.28

548 No. [-0.6m iiE [E3 08 6#8| No. [+2.4m g [Ei3 FOE%
2 296| R {hED 3|IEILS 1 11.86 4 82(MHM EE RS 1 11.68
3 2% A# 1JIISEREILR | 2 11.92 2 535|:kith % eSS ik 2 11.69
1 71013| =% B4 3|LEBEX 3 12.01 1 458|H1E 5 3RS 3 11.70
4 44|58 EiE 3| EET 4 12.10 3 1717[ 1L S ILEREKX 4 12.51

7%#] No. [+3.5m FiE IEfz]  EE8% 8#8] No. [-2.3m g Bz  ECER
1 1312| 5% & FE&ILAC 1 11.83 3 tH W& 2|REREXR 1 12.14
2 4198| AR FA FEESEL 2 1218 2 1901[# £ K= 2|O0E$ 2 12.29
3 ErK 2 2|[LEREXR 3 12.23 1 1456 KF BEMHE RS 3 12.36
4 534|15K &R MEES LTS 4 12.27 4 5% [Eu 2|[LEREERXR 4 12.43

Ofi[ No. [+6.6m R EfL] %k [10#8] No. [+1.im R EfL] %%
3 o3| M8y K— 3B S 1 11.81 1 2064|538 Fis 2|IEEIL S 1 12.34
2 g 15 1| iREdL S 2 11.94 2 537| &)1 fifE REEES 2 12.39
1 452|1EE EE RS 3 12.39 4 536|fEAR 2 REET L 3 12.55
4 139|F% #H— REYE 4 12.68 3 4199 KB E = | R=EMHH 4 13.04

11%8]  No. [+2.3m i [Ei L8R (128 No. [+3.0m g [EL o
3 1833| LI 216 2l AS 1 12.17 4 1455| K5 BER 3| E®RP 1 12.47
2 1855|4H/E #5R AEETin ) 2 12.22 3 2103| A a1 AlGLEESS) 2 12.62
4 2037|2H HRE A 3 12.45 2 HE ZiE EEBHIS 3 12.67
1 4202|E15 Stht 14| REZRF P 4 13.53 1 2052[i%E EAN AGLEELS 4 12.87

13#48] No. [+4.8m i NE 5z ECER [14#  No. [+0.9m iR 53 0%
3 1906 B B RERPE 1 12.18 3 PR &8 | 3[iEMAd 1 12.95
2 1999| T HR B3 AEEI LT 2 1218 2 1301 |#EF+ FOE Z&IUAC 2 13.18
1 581|#8FH X R 3 12.52 4 1463|1518 EEA 3| E®RP 3 13.35
4 H AEEILT =] 4 1312 1 1315|375 & 37|#E£I1LAC 4 13.54

15881 No. [-0.9m FiE (23 ECER [16%H No. [-0.6m iR 53 0%
1 1461 [+ SIE 3| RES 1 13.08 3 2050(+H# EBE AlGEES 1 13.67
4 3068|FEIE F0iE 2| FHREF 2 13.37 2 1129|B55k B 2|EfEh 2 13.81
3 o3| IAR EHiE OLIMPIA PLUS 3 14.34 4 IN-=ERS 3 Eﬁq 3 13.82
2 1127[lLF EE 3[EEF DNS 1 4204| RIE [FE RNEETGEE 4 14.16

1748l  No. [-2.0m FiE NE 5z ECER [18# No. [-2.4m iR 53 FCER
3 O K% 2|igE S 1 13.57 3 1914[FK 1&F | 3[OMAS 1 13.71
1 11934|%2H 4= FEEED 2 14.10 1 1466|858 2| REH 2 14.65
2 1126[#3E @3k FEXES 3 14.18 2 2051[F1A BEA | 2|[fPEs 3 15.04
4 4205|1E/% 3 AEET ks 4 14.68 4 S BK 8| ANEISKRC 4 17.54
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2 IS AEER 1 12.52
1 e HME 8| ANEISKRC 2 20.42
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14 No. FiE [ FOEK 2%8] No. FiE NEfSL AOE%
3 til BiE S|LEREEX 1 50.72 3 3869|OR FE 3|OPC 1 51.04
4 188[MR E= 3| FtAS 2 50.99 4 [ 71013| =ik E#t 3|EBE X 2 52.12
1 =2 BE% S| LEREEX 3 54.37 2 82|Mh HHE RESEinS) 3 53.06
2 1925 |3E:T #K FEEEES 4 59.39 1 A #hth A REREXR DNS

3%A| No. FiE [ FOEK 448  No. FiE NEfSL AOE%
1 HH B A|LEREXR 1 51.40 2 322[3k)Il % RECESS) 1 53.61
2 1763|#3h EE A 2|t AS 2 52.23 3 468|FH1E 5 3|IREI S 2 54.31
3 iR EE |IRBTHIIK 3 53.14 1 tH & ANNETES- 2N 3 54.51
4 1685 B8 & AGEERS 4 55.54 4 5% B | 2[EEREX 4 55.05

5%  No. iE IBRI]  EE8% 6#8] No. FiE BRI ERER%
4 1833 |1l fB1E 2t A S 1 54.66 2 2065| LR =#E 2B S 1 55.67
3 1855 1R FRER 2 &ZEhe 2 55.03 3 2064|E FEH 2|7 2 56.64
1 905|%5% B EEG= 3 55.19 1 Fith % 2| i 3 1.00.43
2 290[h/R {HED 3| MEEILE 4 56.41 4 2185|HE =18 AEERS 4 1.03.39

7% No. FiE IEfz]  EE8R 8% No. FiE IEfz|  ECER
1 1996| B H &3l AEEI LT 1 56.94 2 2063;thE A | 2|iKEIS 1 56.39
3 534|BK A RERFE 2 57.18 3 1734|51H Gz | 2|S5H 2 58.10
2 625[ILF HBE 3EES 3 57.27 1 139[F%H &= | 3[Ba&E 3 59.60
4 ZElE 15 1[TREIL S 4 57.65 4 2052[%8% BN | 2[PEs 4 1.01.13

9%f| No. i NE £z F08% 1048 No. FiE 53 08
3 REH RN 3|iEES 1 56.73 2 1694+ £ BF AEEinS) 1 1.01.06
1 1858 (3% K#j AT 2 57.68 3 1459 | BRIl & 3| E®EP 2 1.05.53
2 452|157k BBk P EE 3 58.99 1 1857| A H #E A DNS
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3 2082[3E BEZE AT 1 57.42
2 2050 X F# EBE Al 2 1.05.35
1 2051[RiH BEA Al 3 1.15.03
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148 No. [m iR [ FCE% 24| No. mEE | & FiE [ ACE%
5 71685[ K47 EEF 2|[LEFEFXR 1 1.56.12 3 | 71433[ER)II HE| 5|85F 1 2.05.73
3 71681;E# B3 S| LEREEXR 2 1.57.52 2 | TM3[iAE BN MIIEEX 2 2.07.09
1 71674|HE BE3 4| ERFEFXR 3 1.58.00 7 RO A A[[LBTHIX 3 2.07.36
7 T1713[8)I ZEZ A S| LERZEEXR 4 1.58.09 1 905|%1x EF =G 4 2.07.88
6 FEEA A|ILEREKXR 5 1.58.86 4| 71087[FH SF [MI[LEX 5 2.08.54
2 71093|#ER BFE M1 EEX 6 1.59.57 8 186[113 FBH RES] 6 2.08.68
4 | 71684|—&= W@t 2]LEREFXR 7 2.00.55 9 2081|EE BE | 2|REHe 7 2.09.57
3 71386510 RE AENIES 8 2.05.45 6 R2H RN 3iEMAS 8 2.09.81
9 1389|BtE EFE AENIES DNS 5 1859|RER 1B A 9 2.10.25

3#]  No. FRIRE S i [ R
1 1734[8iH 5% AL 1 2.10.78
8 759| ik Q| KINFERE 2 2.10.88
5 1856 | B+ & A 3 2.11.28
4 625[IUF #EF REXES 4 2.16.31
3 1735\ R A #iE 20[8% 5 [ 21892
2 1887 |85 ch 4B 20[<YHAC 6 2.23.27
7 1128 tH % 3 ﬁ?ﬁ¢ 7 3.16.24
6 #BE HER 2|EfE s 8 3.22.85
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148  No. BiE F FiE [ FOE% 2%8] No. mEE | & FiiE [ ACE%
6 71683[1lLs [HA |ILEFEFEXR 1 4.06.21 2 | 71078|EH & MI|IEEX 1 4.16.92
5 71667| KT &F M2 [[EEREXR 2 4.07.95 12 5756|1E 40 E1E =RERT 2 4.18.73
1 71685[ K11 EEF AN TN 3 4.08.66 1| 71688|BHE 53 2 r‘%ﬁ;‘ﬁx 3 4.18.94
11| 71678| KB E§ | LERZEXR 4 4.09.02 10 1690|#EH = AES 4 4.22.24
8 71011 (888 @k 3|ILEEEXR 5 4.09.45 11 5746| R¥ #% 3|I=RERF 5 4.23.52
2 71684|—= @3 2|[LEREXR 6 4.14.98 3 81|KXF8 #hiE REEi 6 4.25.98
3 71686 R X AN TN 7 4.16.26 14 533[1R 1L)\ REE LT 7 4.26.17
9 71668| KB #hth 4| [ERFEXR 8 4.17.19 4 | 71009 KE EHEE |ILBEEX 8 4.26.55
14 | 71674|EH4& BeF A|LERFEFRXR 9 4.17.44 5 | 71680|%& K #& |LEREEKX 9 4.29.48
13 1375 KT 348t M1 [RELR 10 | 4.17.66 8 759| Rk 23 j:?u%?:zA 10 | 4.29.69
15 | 71113[Ie K &N M1 |IREX 11 4.18.57 18 4194558 F= REET L 11 4.30.58
7 71681 [;E# 3l S| LEREEXR 12 | 4.23.05 6 1661[i515 B 2 %Bﬁfﬁm 12 | 43205
12| 71679/ 4k B |ILEFEER 13 | 4.26.38 17 5750/ 8 R 3|I=RERF 13 | 43225
10| 71687|AE H#E ANEE 5PN 14 | 4.27.65 15 2041|M iEA AES] 14 | 43244
16 EIEE R s 3|IREIS 15 | 4.27.94 9 294 [¥A% $REA 3|IEEIE 15 | 4.32.86
17 FAEY REETGET 16 | 4.33.22 16 2120| % BEXRER 3|LEE=FTH 16 | 4.36.25
4 | 71672|5E%H E— A|LEREFERXR 17 | 4.38.79 13 325|/NEFEE K LEETIS 17 | 43803
18 1389 Bt EE AENIES 18 | 44550 71 71093[EE EFE [MI[IEEX DNS

3#]  No. FRIRE S E IEfz]  ER8% 4%  No. BmERE | F i lEfz|  ECER
2 Af B 1|tHES 1 4.25.00 9 4195[ch)I| EH | RERPS 1 4.38.76
1 2122(8REH BE# 2|[LE=H 2 4.25.21 8 1912|[@H & 2|0@F 2 4.38.98
6 5743|FAH B3 3 JI%%EEEP 3 4.36.89 1 4220| 48 BaK | 3[Ry ES 3 44257
4 5654| KR K# =R 4 4.37.42 6 2040\1& )11 # AELS] 4 4.46.67
3 5660;EMH FAK /=R = 5 4.37.71 4 3916|ILUO A#1 | 3|OLIMPIAPLUS | 5 450.44
8 2939[BEFN E IR AELS] 6 4.38.85 7 4221 F W% | 3[FhByEP 6 4.50.86
5 5652 |Ffch g3l =R =r 7 4.39.11 3 611|EHAR i RES] 7 454.16
14 1734|RiIH Bz AL 8 4.39.53 15 4226|FH EE 3| ik o 8 45481
9 582 E HE FES 9 4.41.00 2 2121 (¥ #8 3|LE=MTE 9 455.16
7 2062|458 A AEERS] 10 | 4.41.61 5 5749| TN B1{E 3|I=RERF 10 | 45537
10 3919|&MH ZE7F] 3[OLIMPIAPLUS | 11 | 4.41.93 14 1907[[® Bk AEEES 11 | 45569
17 9067|E F ¥y AEXES] 12 | 4.42.78 12 5752(JIIF BEAZ 2(=REHT 12 | 456.73
16 5656 FE 5 2[=R=—r 13 | 4.46.65 10| 14211|NE B3} | 2|REZFFP 13 | 457.49
11 56531 BEX 3|=ER=d 14 | 4.46.86 13 4197|BME T REES ks 14 | 5.04.09
15 4224 1WA f@3l 3 H“Epﬁ'rﬁnh 15 | 4.47.13 11 5753|/\5 IRER AEEEA 15 | 5.04.29
13 5659k UM 21=R= 16 | 4.59.42 16 1998| IR B [16|REFPE DNS
12 295[IUE FAth IREIS 17 | 5.04.35 17

5% No. BRA F g IEfz]  ER8%

15 1856 4t % AT 1 4.40.36
2 9053|HH A NEXES 2 4.49.52
1 2042|cht EH AEY 3 3 45391
5 422[5mE fliK 3| F iRy o 4 457.39
4 1462|#R &4 3| RES 5 459.84
3 1691[JIldL BRA AEES] 6 5.00.09
6 2123[1 . BA 2| [GE=FF 7 5.00.36
3 1457| =@ EE E®RH 8 5.11.17
7 BH K 1LEB=FF 9 5.14.44
10 5658 LIy 15 HH 2|=R=d 10 | 5.19.60
9 5655|dt)1l FEA 21=R & 11 5.19.80
16 [REH #EPY 1EE=fH 12 | 52581
11 1125|F% X 3|E & 13 | 5.30.75
12 1130| Bl BE AELS 14 | 5.34.80
14 A IhiK 2 %’,ﬁﬂ 15 | 557.13
13 131 H BN AEY:T: 16 | 6.11.03




H3000m8BF

1#8]  No. FRIRE S i [ R 2% ]  No. FRRE | F iR IEfz]  ECER
2 71678| K& E% S| LEREEXR 1 8.53.86 2 4688[ILA 1EF Al N 1 9.38.03
10 [ 71683[1luF BA |ILEFEFX 2 8.56.11 4 186[113# FBH RES] 2 9.42.05
1 71667| KT &F M2 [[EEREXR 3 8.56.86 7 | 71030[F Il =& ANNEIE3ERN 3 9.49.97
14 | 71688[fRHE &= 2|[LEFEFXR 4 8.57.60 20 1ET BE R =Y 4 952.14
4 | 71668/ KE #hth 4| [EEEKXR 5 9.00.41 5 2041|A @& AES] 5 9.52.37
6 71686 |AR A 2|[LEFEFEXR 6 9.06.24 9 2039(fEFD 2% AELES] 6 9.52.77
18 80[AK [F FEET ) 7 9.11.94 3 325|/NEFE K 3|LGETIS 7 9.55.75
11 2413[BL EA R EES = 8 9.15.26 10 293|BH G 3|iEEIL S 8 9.58.92
20 1491|EH k(& 3= Edee 9 9.15.92 16 2062(%558 BA AR RS 9 | 10.16.34
12| 71679/ #k B 3|LEREFX 10 | 9.16.69 13 3050| &Il A 3| FHREG 10 | 10.16.53
8 71687| 82 KRIE LEREXR 11 9.19.92 12 & 3t 3iEATG 11 | 10.23.03
16 | 71680[%& K % 3|LEREFX 12 | 9.25.17 15 9067|E L B AELS] 12 | 10.26.18
17 1966 |y SE— 46> R—SC 13 | 9.29.28 6 HR EE MIEEBTHIIX 13 | 10.26.43
13 3924| % Eih 2|OLIMPIAPLUS | 14 | 9.33.19 18 A® =W | 2[(E@ATF 14 | 10.28.14
19 1690|FEH = AEL S 15 | 9.37.17 19 A W 3|iEET 15 | 10.33.73
7 71672[LE % #— 4| BHEFX 16 | 9.40.11 11 HEH K 3EE$ 16 | 10.40.58
3 71675|=A AR 4| [RERFERXR DNS 17 493/MNE FEAER 3[iEEILS 17 | 1055.17
5 71670| KR #33 A|LEFEFXR DNS 8 2083|F F E& A 18 [ 11.16.48
9 71671 X X 4| [RERFERXR DNS 1 141[3AF Fn#t R DNS
15| 71669[%kMA R A|LERFEFXR DNS 14 294 [¥AF $REA 3|iEEIE DNS
3%A| No. i E F FiE [ FOE%

3 582[FRE EEB FEXES 1 10.08.16

15 4686(BhE SR 2| Bt 2 | 10.08.95

4 2040[4£)11 # AEYES 3 10.12.31

2 4687[FAK Kih Al I 4 10.14.44

9 3951 [/MEEJR 3 3| FHREAS 5 | 10.15.25

12 9053[FHH A 1| EfES 6 | 10.20.72

5 1921[4F A X [AEELES 7 10.23.50

7 469(& 1L B51E 3| REhE 8 | 10.26.29

8 2042[dhw EE AELES 9 | 10.30.08

14 | 11933|h§ @BE 3|O0@Ag 10 [ 10.30.71

6 L AETELS 11 | 10.36.35

11 75IUAR BEX 3|EHRFS 12 | 10.39.94

10 3052 (Wb R At 3| FHRES 13 | 10.48.09

18 1691]JI[dt BEK AL 14 | 10.53.86

17 611|EHA i FEXRES 15 | 10.56.10

19 B BA 2igE S 16 | 10.58.35

16 g2 —8 3iEMAS 17 | 11.05.44

20 R IEH AR 18 | 11.08.82

13 9039| A fEsL HES 19 | 11.3392
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1#A[EE  [-1.0m iR IEfz]  EE8 28 [EE  [-2.4m FiE IEfz]  ECER
2| 7216l/hUE HEA| ALEREXR 1 13.03 3| 1049zl GET 2|REtE 1 13.76
3| 1907 %K #ELE | 3[OHSF 2 13.07 4 77{8E EE | 3[EHRFH 2 13.87
1 55|MlR Z=EF | 3[ftAE 3 13.31 2| 3a70[/hE ™E | 3MES 3 13.90
AN =EZE BRI EETELE 4 14.65 1] 4181hE FiK | [REFHG 4 14.67
S [EE  [-1.8m FiE IEfz]  EE8 AAEE  [-1.4m FiE IEfz]  ECER
3| 1142| KA BFEF 2[AS 1 13.98 1] 5745|E& T 2|FEHoG 1 14.30
2 2(F1R EE JEEIS 2 13.99 2 10655 58 | S|[FAAS 2 14.50
1 12T #|FE 3|fAS 3 14.27 4] 4192(+HH HETE | 2|REFFHa 3 15.62
4] 1342|FB HhAH | 2|REHE 4 14.44 3] 4190|BF%F: ¥ | 2|R=FFESH 4 15.63
S#A[EE  [-0.3m iR IEfz]  EE8% 64l [EE  [-6.6m | FiE IEfz]  ECER
4 IM[ER HE AEEELE 1 14.43 1 WBEE F4F IBEEILS 1 15.26
1 107]8 8 HF 3|t AE 2 14.61 4 82|FE FZE | 2[EZRFS 2 15.29
3 IR ES: T I ERFF 3 14.85 3 81[{¥M BER | 2[@E&xFwh 3 15.35
2 MR B S|iEEI S 4 15.66 2 67|As EH | I[EEILS DNS
7#[EE  [-4.0m fE IEfz]  EE8% 8 [E:E  [-0.3m | FiE Bz  ECER
4] 1773]|#B%  ERA AL 1 14.68 1 223| & A3 3 mulbbio 1 14.48
2 AR SEZERINENTE: 2 15.06 2| 1454|5%FME FE | 2|RERTF 2 15.44
3 68|H FEIHA 3|EILS 3 15.20 3 B BB EAESKRC]| 3 15.45
1 89| 3w HMEN ?2|[ERFH DNS 4] 1230[=H# FS | 2[HULESHES 4 15.97
offi[EaE  [-0.1m E IEfz]  EE8% 10fH[/EE  [-1.8m | FiE Bz  ECER
3 A BED FERAESKRC | 1 15.38 2| 1379|#H JFHY 2[AAS 1 15.07
2| 3057 FHiL 2| FHREH 2 15.40 1] 1455|E@ QO EH 2|EFES 2 15.64
4 ESS) ,H* ERESKRC]| 3 15.90 4 955\ )1 #3 | 3|ERFH 3 15.70
1 I ES 3jlopPC DNS 3 957[EH #A | 3EFH 4 15.88
11FHEE  [-0.2m fE lEfz]  EE8% 128H[EE  [-1.8m FiE IEfz]  ECER
1 EH &b EARESKRC]| 1 16.65 2 959 KA FHE | 3EFF 1 16.54
2 ER 51 FERAESKRC]| 2 17.49 1 H  KF ERAESKRC]| 2 18.08
3 BT [E5H ERESKRC] 3 17.54 3
HZF400m
148 | R iz IEfz]  EoER | 248 | ELE FiE BRI ERER
2 107|888 B+ FAAS 1 1.03.95 2| 1906|&JIl R{E | 3|OMES 1 1.06.69
3| 5653|KFZx = =R =r 2 1.04.22 3 2058 T | 3EELS 2 1.07.91
4]  1142|KHA BF 2RAS 3 1.05.70 4 1911y FIE | S HULEEHES 3 1.09.12
1] 71216[/MuE &tk ALEREX DNS 1 LA B JIEEI S 4 1.10.25
| 34A | EE iz IEfz]  EdE%
2 2235 BAEZE | | MuLBEe 1 1.09.51
1 67|Ah EP 3|iEEIL S 2 1.14.43
3 WBEE FLE | IEELS 3 1.16.89
4 68|H FEIHA J|iREIL S DNS
HZF800m
148 £ E [ IR 2% ]  No. iE | & FiE BRI 0%
1 3053 EBHE 3| FHREH 3] 2123 EJF WwZx | 3[=F+F 1 2.36.64
2] 1906[&JII ATE 2l0@d 1 2121(75M =M | 3= 2 2.40.77
3| 1047|FEE Bl | 2|REHe 2 2122|FE = | 3=+ 3 2.40.77
4]  4679|FH FEtiE | 2[E#d 4] 2125|@IE I 2| =% 4 2.41.41
5|  2124|A% @27y | 2[=H4n 5 =% E | 1|=fg 5 2.45.28
6] 1908[=if ZTE RI=T=ES 7 HH X | 2[EMAG 6 2.54.40
7 XENEE (T T) DFAICKYHETETHL—RIZ 6] 11780 FJII #= | 3|&lg 7 3.03.39
34 |BL—2A 3 g IEfz]  ER8%
3| 1047|F5EE H | 2(Rhthe 1 2.35.38
5| 2124|K% #B4cH | 2[=F% 2 2.37.18
1 3053 B E 3[FHREH DNS
2 1906 | &Il E1E 20 A+ DNS
4] 4679|FH FEtiE | 2[HEd DNS
6] 1908|=WE FTE KI=T=LS DNS
2[EH
148 S g IEfz]  ER8%
2| 2123[MF__#ZE 3| =% 1 2.42.20
1 2121|75H M 3[=Ff1F 2 2.43.09
3] 2122[FF fiE 3| =% 3 2.43.79
5 =i D 1|=F0 4 2.45.55
4] 2125|@G BT 2|=F0 5 2.47.53
HXZF¥1500m
[1#8] No. BRE F i@ IEfz]  ER8% 24| No. BEEE | F R IEfz]  ECR
1 42307 HEE 2| AP 1 5.00.45 1] 3053)[A EE | 3|FHRHES 1 5.20.23
10 B U&Y 2[fmHEG 2 5.04.60 5| 3064|288 dHN 2|FHRHES 2 5.20.68
4]  1908|ElF EiE 3|0@EF 3 5.04.96 4| 3052|FM BEE | 3|FHEASD 3 5.23.53
8 3062[FFIE FE 2| FHKEF 4 5.05.44 6| 422731 B 3| iFhik s e 4 5.35.09
6] 4678[/NRJII 3 | 2[Ridch 5 5.07.55 3| 3060|E%N #F | 2[FRED 5 5.37.42
2| 4680ihAR EBEZE | 2|HMd 6 5.08.24 2| 4679|FH EHE 2[EHd 6 5.37.96
5| 4684|f8FH T 1| B ch 7 5.08.98 10 FL HHE | 2[FhKkyES 7 5.51.04
3| 3470[/NE MHE 3|EH 8 5.09.63 7] 4228 kE [BE | 3|FHgksr EH 8 5.51.22
9 30555 ThE 2(FHKAF 9 5.10.55 8| 1773|#8# A | 2|&ls 9 5.57.99
11 1047|F:2% B | 2|REhe 10 | 5.16.37 9] 4229/NE KE | 3[FFHERs EH 10 | 55837
7] 3058[KE  #RTE 2| FHREH 11 | 52217 11 £H #E [ 3[(EEG 11| 6.12.21
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